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Instructions : 1) Each question carries 2 Marks

2) Answers shaould be written with Pen.

3) Cancelled and pverwritten answer will be not be considered.

4) Answer should be written in box provided after each question.
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1.  The sum of the squares of two numbers is 80 and the square of their difference is 36.
find the product of two number.

A ST A AT 80 ST WA e GREhTAT A 36 3R

AT A ORI et ?

2. l+x+x2  13(1+x)
igie . = Wip o7V
HXx=1

3. 40 workers do a job 8 hours daily. They complete 1/3 of a job in 18 days So additional
24 workers were appointed to complete the job. All the workers now work 9 hours
daily. In how many days they will complete the job ?

40 FTHR W a8 AT AIWAIOT ShTH S TaT STATeT 1/3 T 7 18 feamma qof

AT AT SHUIET 24 SHTHTTE THU[Sh ShTvaTd 3TTe. ST A e AR feerretr 9 99
FTTHOY ST AT, X T Tt of T quf o T feelt feare emiefter ?
|




10.

Two equals sides of an isosceles triangle are (3x+1) cm. and (4x-2) cm. Length of the
third side is (2x+ 1) cm. Find the numerical value of the perimeter of the triangle.

TRIEYST HreRToT=aT S ey aTsiet ael (3x+1) T (4x-2) FHT. TG faq=ar s aEr
(2x+1) T 3778, T 41 FAaw oA g e 3ierTeren fopaa shTal.

Sum of LMC and GCD of two numbers is 42 and thier difference is 30. Find the
Numbers.

A AT SR 0T Hifer ATel SRSt o ISTTaiTent STIshH 42 3TVT 30 3TTe . TR W& H1aT.

In the adjoining figure AD=4 cm. BD=6 cm.
Radius OC=5cm.
Find the area of the shaded portion.

AD =49, BD =69, fisar OC =53+t
D o tEiferd Y §9%es Shia.

Two successive discounts 10% and 6% are given on an article what is the single
equivalent discount?

TehT S STToRH 10% 3TTTUT 6% T 0T STTeT.
T T aER U7 fehett aaen g feedt et ?

729ml. of mixture contains milk and water in the ratio 7:2. How much more water is
to be added to get a new mixture containing milk and water in ratio 7:3 ?

729f0ett. fagomre ger sxfor wroft =i oiraT wwweT 7:2 AR, A1 A Mot aioft e
T fHoT TAR e, AT T I uTTde $o & IO 7= T AT 7:3 SHedE 4 fHguma
3T femett aroft firreset ?

If a, b, ¢, d, are natural numbers such that a = bcd, b=cda, c=dab, d=abc then
(a+b-c-d)? =?
$a, b, ¢, d, ITGMTe GEAT WM 3R &l a = bed, b=cda, c=dab, d=abc

™ (a+b-c-d)? =?

If x2-2y2=1 and x, y are prime numbers then find the value of y.
T ¥29v2 = 130T x v T HeS WAT JTHAT ¢ v =t fepma shrer. |
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LJABCD is quadrilateral with AB= CD and AC is a diagonal .
LABC=50°, L B AC=80°, L DAC=65° then find L ACD.
[0 ABCD %7 =l1eh I+ 3747 3T ST T AB =CD 31foT AC g1l 3T,

L ABC=50°, . BAC=80°, . DAC =65° 379&aT . ACD T,

The ratio of the curved surface area to the total surface area is 5:13. Find the ratio of
the radius to the slant height.

VAT ST Ees MU TvT YStes AT Ui 5:13 SR T w4 wiggreht frsea anrfor
frerg IR A e e

Solve :- (&rgam)
T s R WA
254 x 600 600 x 346 346 x 254

The sum of money put at simple interest triples itself in 15 years. Find the rate of
intrest per annum.

Ue T <. 91391 18T U BN Jaaa STaar 15 Jufa fawe g1, 7€ sameira &<
T,

What is the acute angle between two hands of clock at 2 hours 20 minutes?

2 AL 20 et o TreTeaT 4t seTme et e S wA gl

Simplify the following. (G ¥Tm)
X3+9x2420x . x24+7x+10

x245x+4 x243x+2

Find the value of the following. (g Trfr=t fFma =Tar.)
17- 4 15

The radius of the circle is 10cm. and the length of the chord AB is equal to the radius.
Find the distance of the chord AB from the center of the circle.

10 9 Frsdrear aqfaTa ce Frsdugesa et AB Sfar o7,
P T s i (e v, AT N SIS I
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A stock of grains in a hostel is sufficient for 60 days for 500 students If 300 new -
students are admitted after 12 days then for how many days remaining stock will be
sufficient for them ?

TehT SFETETa 500 fereneatn 60 foag et 3o o= o7R. 12 feasmaR 300 Teft feemedf
THARTA SREE el T 3Terel YT HaiT fopd! fead et ?

The ratio between two numbers is 3:4. If each number is increased by 6 the ratio
became 4:5. Find the difference between the numbers.

< TEA TOIRK 3:4 R, ST A= TA 6 fesaey T 1= O 4:5 &, o o

Two trains 600m. in length and 500m. in length are running in opposite directions.
They pass over in 0.6 minutes One of the trains is having the speed 50Km/hr. What is
the speed of the other train ?

600 T T 500 T ATET=AT S SIS UehHeh <41 faees fagi STTd ST, TerHeh1 AT
0-6 ThfeTa Sfeiedrd. Tt Gt e T 5 0fH/ar Sraeams gudiar o & ?

A = {x/[x-5]=10}
B = {Sx/x€El}
s AnB =7

If diagonals of a square is doubled how many times the area of new square will be ?

TehT SIRHT 0T g SheaTy a1 ST 4966 ol Ue Biged ?

If adjoining figure point P is on chord BC such that AB=AP.
If [(CP)=5cm. find the length of CQ.

IS[eAT ATl SfiaT BC X P &7 faig amar 37e &,

AB=AP ST [(CP)=5 QW 3¥e X CQ < el Tirer? B\p i
QJ
1£ 37" =1 then find x=?
2x245x-3

=T =1dATv="7



